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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 2440 10.8 4.3 20 53.9 43.3
2 5568 11.7 3.7 20 58.3 98.8
3 3248 10.6 4.4 20 53.2 57.6
4 390 6.3 3 12 52.3 6.9
5 4368 6.6 2.3 12 54.8 77.5
6 848 7.1 2.3 12 59.5 15

SPaG 5609 2.1 0.7 3 70.8 99.5
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Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(b)	 Explain why the lifestyle of many Americans changed from the early 1930s to the 

1950s.	 [7]

		 [In your answer, you should use the information provided in the sources and your own 
knowledge to show the extent of change and the reasons for this]
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Sticky Note
This response was awarded Level 2 3 marks. The candidate uses the sources in a largely descriptive manner. There is some knowledge but this could be developed more fully. The candidate needs to explain why the lifestyle of Americans changed.   

Sticky Note
Direct use of Source B. Again largely descriptive and little additional knowledge used. Little focus on the concept of change and the reasons for this.

Sticky Note
Direct use of Source A. Largely descriptive however and little additional knowledge used.
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1.

Sticky Note
This response was awarded Level 2 5 marks. The candidate begins to focus on the concept of change. More emphasis could be placed on the reasons for the changed lifestyle of many Americans in the 1950s and there could be explicit use of the sources. Good use of knowledge but the impact of the New deal and the Second World War could be developed.

Sticky Note
Implicit use of Source B. Largely descriptive use of the source.

Sticky Note
Implied use of Source A. Good use of additional knowledge but this could be developed. Begins to hint at reasons for change.
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Sticky Note
This response was awarded Level 3 6 marks. The response is well developed and uses knowledge most effectively to explain why the lifestyle of many Americans changed. The candidate has successfully used the sources and own knowledge to explain the concept of change.

Sticky Note
Direct use of Source B. Clear reference to the war as a factor affecting change.

Sticky Note
Genuine attempt, despite the reference to Reagan, to explain why the lifestyle of Americans changed from the early 1930s to the 1950s. Sharp focus on the concept of change. Extensive use of additional knowledge.

Sticky Note
Direct use of Source A.

Sticky Note
Telling use of background knowledge.
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Question 1(b)  


 
Target:   Selection of knowledge; understanding of key concepts 


Mark allocation: AO1 AO2 AO3 


7 2 3 2 
 


Question:  Explain why the lifestyle of many Americans changed 
from the early 1930s to the 1950s. [7] 


 


 Use 0 for incorrect or irrelevant answers 
 


LEVEL 1 Generalised answer; paraphrases the sources; lacks focus on set issue. 
  [1–2] 
 


 e.g. Source A shows a photograph of unemployed men in the 1930s, whereas 
Source B says that by the early 1950s Americans were the most prosperous 
people in the world.   


 


LEVEL 2  Accurate answer which begins to address the question. [3–5] 
 


 Answers worth 3 marks will use the sources and own knowledge to 
mostly describe the issue. 


 


 e.g. Source A shows a long line of unemployed men outside a soup kitchen in 
the early years of the Great Depression when there was mass unemployment 
whereas Source B says that post–war America was very prosperous and the 
envy of the world.   


 


Answers worth 4 or 5 marks will use the sources and own knowledge to 
begin to focus on the concept of change or development.  (Reference to 
sources here may be implicit.) 
 


e.g. Answers will begin to explain why life changed for many Americans.  
Source A shows a long line of unemployed men outside a soup kitchen in the 
early years of the Great Depression when unemployment was set to reach 13 
million.  There should be reference to the New Deal, which put many 
Americans back to work and to the Second World War which combined to lift 
the country out of depression.  Source B says that America had become 
prosperous in the 1950’s and had the strongest economy in the world.   


 


LEVEL 3 Answer addresses the question clearly. [6-7] 
 


 Answers worth 6 marks will use both the sources and own knowledge to 
explain the concept of change or development. 


 


 Answers worth 7 marks will use both the sources and own knowledge to 
explain the concept of change or development.  There must be explicit 
reference to both sources in order to gain this level. 


 


 e.g. Answers will focus more sharply on the reasons why life changed for 
many Americans.  Source A shows the effects of the Great Depression in 
contrast to Source B, which says that the US had become very prosperous 
and was the envy of the world.  There should be mention of the impact of the 
New Deal and to war which expanded the economy and ultimately lifted the 
USA out of depression.  There may be reference to post–war economic 
growth and affluence, suburbanisation, where many lived the ‘American 
Dream’ and to consumerism and higher living standards as stated in Source 
B. 
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